FRk29FE BB EHEFRAIHER—E

SHRE
R (L& 35T
a:100%ME b : 80% E~100%Ki SHAMSE : $EIESREL TLBEDD ‘ EEmEE . —REEREPEIEOREE ]
c: 60%L E~80%=iiE d: 60%iiE BERMIAIFEIN LB R IED No3izth, IBEREAELHIMUISEE
-5 D \ TEE |sEm] it
SREREHT i | st EE £
8038 b | ¢ | d [semmst (X) | (Y) | X+Y
== i e e e BIEE |55 | 5515%
RREREHT S | 3 =x | E2 | N
-394, b c d |semEst (X) (Y) | X+Y
ISRIEER 10 3 1 0 14 11 25 14 10 24
IR IR RS 9 3 0 ofl 12 4 16 8 0 8
WER 0 1 0 0 1 0 1 1 0 1
HEFS o 14 3 2 of 19 0 19 14 21 35
AEER 5 1 0 0 6 1 7 7 7 14
XEEHIER 1 0 0 0 1 1 2 1 2 3
ITIRCEEHEERR 2 2 1 0 5 0 5 2 3 5
| EIRIRER 1 0 0 0 1 0 1 1 0 1
2HER 2 0 0 0 2 0 2 2 1 3
T SE SR 4 0 0 0 4 0 4 2 0 2
W¥EER et 48 13 4 0 65 17 82 52 44 96
b5 S IBURER 6 1 2 2l 11 3 14 12 11 23
Hhigh B SEHEEESR 14 5 0 2l 21 7 28 21 12 33
B xisRAE Vet 20 6 2 al 32 10 42 33 23 56
B IBGR 2 1 1 0 4 0 4 3 16 19
A BURER 1 0 0 0 1 0 1 1 0 1
ISEUES 2 0 0 0 2 0 2 2 6 8
IS EIER 4 1 0 0 5 0 5 3 4 7
T EHE 1 0 0 0 1 0 1 1 1 2
EENS 0 0 0 1 1 1 2 1 1 2
AFEER N5t 10 2 1 1l 14 1 15 11 28 39
ihisk 131271 HEESR 24 10 1 3l 38 1 39 24 10 34
BGL-ZBEEH 29 12 0 3| a4 6 50 31 9 40
ANFER - B HESER 15 3 0 0 18 2 20 11 14 25
PREOEA— 3 0 0 4 0 4 4 7 11
=i 6 0 0 0 6 0 6 3 9 12
HhEERAEER 1 0 0 0 1 0 1 1 3 4
hEIREEE /J\st 78 26 1 6| 111 o] 120 74 52 126
FERfBALIEFSER 2 2 0 2 6 2 8 6 37 43
FEEEEER 0 0 0 1 0 1 1 1 2
IrEERRER 3 0 1 0 4 0 4 3 49 52
1RPRERER 8 2 1 1 12 0 12 9 44 53
his{R{EER 30 10 0 1 41 2 43 32 8 40
HREmat 23 6 1 2| 32 3 35 18 4 22
fEFRIEERR 30 14 4 3] s1 7 58 34 8 42
BENMEALER 24 6 2 2| 34 1 35 34 25 59
HFNELE 6 2 1 0 9 4 13 9 4 13

1R=




E=E R S 1EBRE |1515E | 5515%
SRR Sl | s B | =% %

584 a c R El (X) (Y) | X+Y
S =yt 55 35 10 13 113 8| 121 74 6 80
RILEIEER (E— iR B iRER) 5 5 2 0 12 1 13 11 25 36
AN E 0 4 0 0 4 0 4 2 3 5
EFRIEAEEP /st 187 86 22 24| 319 28| 347 233| 214 447
FB Uafldsz 20 5 1 51 31 0 31 17 15 32
FELB KR 17 4 1 1| 23 0 23 21 5 26
B FIRERR 22 13 1 3l 39 3 42 31 9 40
REHHEEIER 11 3 5 of 19 1 20 20 30 50
FEOFREIBET Y- 3 0 0 0 3 0 3 2 6 8
CEBEREEE st 73 25 8 9| 115 4| 119 91 65 156
IEISKREE 20 9 1 2 32 2 34 22 20 42
IR —HEESR 0 2 1 3 6 4 10 8 0 8
BiS{F e 29 1 0 0 30 1 31 20 5 25
REYDIIRER 6 1 0 0 7 0 7 4 3 7
IR TS5 1 0 0 0 1 0 1 1 9 10
e L% 1 0 0 0 1 2 3 3 2 5
HREMRIR A — 9 1 0 of 10 8 18 11 10 21
BEIEEP /it 66 14 2 5 87 17| 104 69 49 118
EXERCREE 20 4 3 0 27 4 31 20 6 26
T iREIEE 20 5 3 3 31 6 37 25 11 36
EE ISR GRS 1 1 0 0 2 0 2 2 1 3
Ry IREIER 27 9 1 1| 38 4 42 30 25 55
NEBER 4 0 0 0 4 0 4 4 24 28
B ILEXEP /Gt 72 19 7 4| 102 14| 116 81 67| 148
EMUKEESR 43 11 1 4l 59 9 68 48 28 76
fritig IR EIER 25 6 1 1| 33 3 36 26 14 40
TAEL iR ER 6 10 0 2 18 7 25 14 15 29
S iR EIER 4 6 0 of 10 1 11 8 13 21
Hihsg 17 5 2 1 25 5 30 22 2 24
hig:g 1 1 0 0 2 0 2 2 5 7
BEMKESE I\t 96 39 4 s| 147 25| 172 120 771 197
BTSSR TS5 R 2 1 1 0 4 0 4 2 9 11
Rt EsIEER 1 0 0 0 1 0 1 1 1 2
#ThETHEIER 3 0 0 0 3 4 7 7 33 40
At EEsR 11 4 0 2 17 2 19 15 0 15
EEIRER 8 4 0 1| 13 2 15 7 5 12
FEBEREE 8 2 0 of 10 5 15 10 7 17
AN RS E T 1 0 0 0 1 0 1 1 1 2
HEDER 13 2 0 of 15 0 15 12 20 32
BIREIEER 21 0 0 of 21 3 24 14 5 19
EIREE fmER 29 0 1 5 35 15 50 32 12 44
A KBS ER 4 1 2 2 9 0 9 6 10 16
EPThEEERSEP /5T 101 14 4 10| 129 31| 160 107 103 210
L+ FKEEHEESR 6 0 0 0 6 0 6 4 0 4
EREIER 5 1 0 0 6 1 7 7 0 7
USEE GRS 4 0 0 0 4 0 4 3 0 3

2 R—Y




EET I 1B | o | aitEE
BRI i | 3 = | B %

105842 a b c d |smmsst (X) (Y) | X+Y
FRIKER 11 0 0 of 11 4 15 8 0 8
BEFEY-EXER 3 0 0 0 3 0 3 2 0 2
K EEEER 4 1 0 0 5 0 5 4 0 4
TKEE EIEER 16 0 0 of 16 0 16 8 0 8
ICEIE TS5 2 0 0 0 2 0 2 2 0 2
LETFKER /it 51 2 0 0 53 5 58 38 0 38
HIEBE /it 23 6 2 4 35 2 37 36 8 44
BIBRER 12 1 3 of 16 5 21 11 36 47
FREER 27 9 1 of 37 13 50 42 17 59
HERIBEZIER 19 6 2 2[ 29 3 32 28 24 52
HEFER 38 25 8 4l 75 7 82 42 22 64
AR—ViREHEE 8 9 4 2| 23 0 23 19 13 32
N - CEHZIRER 27 1 0 1l 29 1 30 23 6 29
DB — 2 2 0 0 4 2 6 4 4 8
mEXZLE 5 5 0 1 11 7 18 8 5 13
GEISUN 10 0 0 of 10 0 10 6 9 15
BB 4 14 0 of 18 4 22 13 6 19
B - LB 14 4 1 1| 20 4 24 20 11 31
neE=a4a /it 166 76 19 11| 272 46| 318 216 153 369
HiREE 1 0 0 0 1 0 1 1 2 3
ESERE 1 1 0 1 3 0 3 2 5 7
EFEEHEEREHR 1 0 2 0 3 0 3 1 7 8
EBTEFER 3 0 0 0 3 0 3 1 2 3
EEZESTHE 3 1 1 3 8 0 8 5 1 6
Y= 1,000 330 79 90[1,499| 209[1,708| 1,171 900| 2,071

BREREEHEN a £2(3 b FHMEDHEBOTVSFEREIOWVTE, SEREBREMKCHS, ML (EEZ2EMT
BILELTHNET,

e, BREMEHDN c T dFHENZENTVSERIOOVTE, 518, SISHEEREKICBHIIL, —
EFELHMIERZREULCIKIE, RUEFERT - RECRITARZITIEELTENET,

IR—T




